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Arrangement And Pattern Questions Overview

Arrangement And Pattern Questions have a good weightage in the Banking Exam and the type of question asked in
Banking exam is similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they
have tried to elaborate the concept used in Arrangement And Pattern Questions.

Arrangement And Pattern Questions

Direction: Study the following alphanumeric series carefully and answer the question given below. W 1 R % 4 J E
# 7 MT219BH3A3$9FQS5DGS®6USTP

Question

If the positions of E and A are interchanged and similarly the positions of R and U are interchanged then how many
symbols will be there each of which is either preceded or followed by a vowel?

Difficulty : Moderate Average Time: 60 Seconds

Options :
1. None

2. One
3. Two
4. Three

5. None of these

Solution

The correct answer is Option 4 i.e Three

Understanding

Page No: 1

. =

+91 90449 32444 www.gargi.ai connect@gargi.ai



https://www.gargi.ai/question-answer/if-the-positions-of-e-and-arrangement-and-pattern-questions-for-banking-56811
https://www.gargi.ai/

= OG/\?Gi

Given series:

WI1R % 4IJEH#HT7TMT2I19
BH3AS$9FQ5DGZE®6US
P

After interchanging places of E and A and R
and U

WI1U%4IJA#7MT219BHS3
E$9FQ5DG6RSP

Such symbols in the new arrangement which
are either preceded or followed by a vowel
are "%, #, $".

Hence, the correct answer is Three.
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